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B HEH —%X 40 36 76 10.8 65.2 200
33 RRZZ  F=RER 44 40 84 18.0 66.0 150
AfL A0 EX 36 40 76 8.1 67.9 100
561 BHF Ex 38 39 77 9.0 68.0 90
613 ME EA 41 38 79 9.0 70.0
741 hiE B 38 44 82 11.7 70.3 75
813 hE & 38 36 74 3.6 70.4
9fz KA #H— 41 42 83 12.6 70.4
104iL mit BX 45 41 86 14.4 71.6 75
1143 BE =B 43 43 86 14.4 71.6
1241 el #Cif 44 43 87 15.3 71.7
134 TF FF 43 39 82 9.9 72.1
1441 R R 45 38 83 10.8 72.2
154 R 44 42 86 13.5 72.5
164z M BRAXER 41 38 79 6.3 72.7
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261 BN BEB 40 49 89 13.5 75.5
274 & B 46 45 91 15.3 75.7
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